PRACUJ S RUZNYMI JEDNOTKAMI

1m= cm 65 km + 39 km = km
1dm= cm 52cm + 148 cm = cm
lcm= mm 41 dm+99dm = dm
1km = m 95 m-82m-= m
13cm = mm 60 dm + 35 dm = dm
28 dm = cm 120 mm + 560 mm = mm
230 cm = dm 110dm +8 dm = dm
890 mm = cm 1km-=-925m= m
620 dm = m 310cm+ 86 cm = cm
1000 mm = cm 632cm—-574cm = cm
590 cm = dm 1m-280 mm= mm
310 mm = cm 8 min+7 min= min
170 cm = dm 16 h+1den= h
740 dm = m 92s+88s= S
900 cm = dm 600 s + 2 min = S
1lden= h 443 s+97s= min
l1h= min 951 min — 200 min = min
1 min= S 79 min - h =19 min

120 min = h h + 6 min = 306 min

5 min = S min+58 min=2h

540 s = min h —55 min =5 min

300 min = h 91s- min=31s
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